The SHIT theory of the World

Finite amount of shit in the universe coming to you, represented by Y

Shit is a function of professional, personal, and spiritual happiness. Closely resembles an extended Solow growth model, in that all shit that’s going to come to you is from one of those sources. 

Y = APro(Pers(ф)Sp(1-(- ф)

A is the shit residual, the person-specific sensitivity to shit (or the marginal propensity to acquire shit). It holds two very important components: shit that’s going to find you no matter what (death of a loved one, broken limb, audit), and shit that you don’t need (dating a psycho woman, going to graduate school, repeatedly smashing your genitals with a hammer). This can be expressed as:

A = βx + ε

Where β is the weighting of tolerance for shit you don’t need (also known as freewill), x is a vector of shit you don’t need, and ε is the stochastic error term, i.e. shit that’s gonna find you no matter what.

The coefficients on the life variables represent the proportion of shit that contributes to the finite amount of shit coming to you.

By this identity, we can see that as the coefficient of shit (α) that occurs in one’s professional life increases, the amount of shit that comes from personal and spiritual avenues tends to decrease. Along these same lines, because all coefficients sum to 1, as one facet of life lessens in shit, the others increase (not necessarily proportionally) to pick up the slack. This is also proportional to your tolerance for shit.

PROBLEM: what happens when it seems that all the shit in the world is coming to you? Doesn’t this invalidate the conservation of shit theory?

No, because this is captured in the residual (A), which can express different levels of sensitivity to shit. If A increases while the coefficients remain constant, it can seem like more shit than normal is coming your way, even though things are going relatively the same.

FURTHER PROBLEM: Because women are a stochastic variable unto themselves, how can we account for their presence in the equation? I believe it is captured in the Personal variable, but a colleague of mine suggested that this would miss some of the subtleties. Further disaggregation would reveal:

Pers = γX + K + ε

Where γX is a vector, weighted by time and learning, of shit that happens outside of your office door. K is a constant that represents shit that occurs in ANY relationship, no matter how happy, so K can never be zero (meaning in terms of the overall equation, that you can’t be made exclusively unhappy by either your job or your spiritual side, that your personal life is always at least a little bit to blame). As in the residual, ε is the disturbance term, included to capture the effects of either dealing with or being a woman, and the resultant mood swings and fluctuations and stochastic preferences that are associated with this state.

Way to calculate the growth of shit over time:

dY/Y = dA/A + αdPro/Pro + фdPers/Pers + (1-α-ф)dSp/Sp

where dX/X represents the percentage change of variable X (whether it be personal, professional, or spiritual) over the period considered.

